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1. ✕ =3√6 6√7

(i) 18√42 (ii) 18√45 (iii) 18
4
√42 (iv) 18√39 (v) 756

2. ✕ =(−3√7−6√5) (√3−√2)

(i) (−3√18−6√15+3√14+6√10) (ii) (−3√21−6√15+3√14+6√10) (iii) (−3√21−6
4
√15+3√14+6√10)

(iv) (−3√21−6√15+3
4
√14+6√10) (v) (−3√21−6√15+3√14+6√12)

3. ÷ =(−4√5) (−2√9)

(i) 2
3 √8 (ii) 2

3
4
√5 (iii) 2

3 √3 (iv) 2
3 √5 (v) 10

3

4. ÷ =(5√9−6√5) (3√7−3√3)

(i) ( 5
4 √7− 1

2 √35+ 5
4

4
√3− 1

2 √15) (ii) ( 5
4 √7− 1

2 √35+ 5
4 √3− 1

2 √15) (iii) ( 5
4 √7− 1

2 √35+ 5
4 √3− 1

2 √17)

(iv) ( 5
4 √5− 1

2 √35+ 5
4 √3− 1

2 √15) (v) ( 5
4 √7− 1

2
4
√35+ 5

4 √3− 1
2 √15)

5. ✕ =
3
√5

3
√7

(i)
5
√35 (ii) 35 (iii)

3
√38 (iv)

3
√33 (v)

3
√35

6. ✕ =√2 3√5

(i) 90 (ii) √93 (iii) √88 (iv) √90 (v)
4
√90

7. =

7
√10

7
√3

(i)
5
√10

3 (ii)
7
√8

3 (iii)
9
√10

3 (iv)
7
√10

3 (v)
7
√4



8. =
2√2

3√7

(i) √ 2
21 (ii) √ 8

63 (iii)
4
√ 8

63 (iv) 8
63 (v) √10

63

9. =

7
√8

7
√15

(i)
7
√ 8

15 (ii)
7
√2

5 (iii)
7
√2

3 (iv)
9
√ 8

15 (v)
5
√ 8

15

10. =
9√8

2√5

(i) √32 (ii) 162
5 (iii)

4
√162

5 (iv) √162
5 (v) √164

5

11. ✕ =9√3 2√9

(i) 54
4
√3 (ii) 54√3 (iii) 54 (iv) 54√6 (v) 162

12. ✕ =(9√4+4√5) (7√9+2√7)

(i) (378+84√5+36√7+8√35) (ii) (378+84√5+36
4
√7+8√35) (iii) (378+84

4
√5+36√7+8√35)

(iv) (376+84√5+36√7+8√35) (v) (378+84√5+36√7+8√38)

13. ÷ =(−√6) 9√2

(i) (− 1
18 √15) (ii) (− 2

3 ) (iii) (− 1
18 √10) (iv) (− 1

18 √12) (v) (− 1
18

4
√12)

14. ÷ =(2√4−4√5) (−6√2+7√6)

(i) ( 4
37 √1

2− 4
37 √10+ 14

111 √6− 14
111 √30) (ii) ( 4

37 √2− 4
37 √10+ 14

111
4
√6− 14

111 √30)

(iii) ( 4
37 √2− 4

37
4
√10+ 14

111 √6− 14
111 √30) (iv) ( 4

37 √2− 4
37 √10+ 14

111 √6− 14
111 √30)

(v) ( 4
37 √2− 4

37 √10+ 14
111 √6− 14

111 √33)



15. ✕ =
22
√ 6

22
√ 6

(i)
11
√ 3 (ii)

13
√ 6 (iii)

11
√ 8 (iv)

11
√ 6 (v)

9
√6

16. ✕ =3√4 2√9

(i) √1294 (ii)
4
√1296 (iii) 1296 (iv) √1299 (v) √1296

17. =

5
√5

5
√8

(i)
5
√5

8 (ii)
7
√5

8 (iii)
3
√5

8 (iv)
5
√7

8 (v)
5
√3

8

18. =
3

3
√2

3
3
√2

(i) 0 (ii) (−2) (iii) 1 (iv) 3 (v) 2

19. =

4
√10

4
√5

(i)
4
√2 (ii)

6
√2 (iii) √2 (iv)

4
√-1 (v)

4
√4

20. =

3
√10

7
3
√6

(i)
5
√ 5

1029 (ii)
3
√ 1

343 (iii) 5
1029 (iv)

3
√ 5

1029 (v)
3
√ 1

147



 1)	(i)  2)	(ii)  3)	(iv)  4)	(ii)  5)	(v)  6)	(iv)

 7)	(iv)  8)	(ii)  9)	(i)  10)	(iv)  11)	(ii)  12)	(i)

 13)	(iv)  14)	(iv)  15)	(iv)  16)	(v)  17)	(i)  18)	(iii)

 19)	(i)  20)	(iv)
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